
CH3 Topic. aTIONIN..A STRAIGHT.LINEoale. 

ExERCISE SOLUTION 

La) Yes. baeause tha sie oy ailway eAMAge 
J& ney small as combaod to tB dstanãe 
hatweeh tuo stions 

(b) Yes, bacaue monkay veny Amall as 
Combaxsd to tha cleulan tack 

2. 

(e No. No, baeause tuning o ball nat snoat 
Thus ha alistace coveac' by the ball Ja 
nat Jange enauqh to consden the ball aa 
paint obet 

G)No, bacause the alietance onened hy the. 
tumbling beaba ia nat much lanq� 

B 

) Bocause oP < Oe, hance 
A ines eloseto schoal than R 

deme non- zeNo alue. Thehejee Teacher's Sign 



(e) 

Topic. 

Bwalks fasto than A 

A starta fom the dehoal enlies Han &. 

O Slope gabhfor 3) lope fon A. Thestre 

.Date. 

d)Since a same fon bath A and & for P 
Qnd & bositon we an s 

A qnd KAeach homne at the lama tind 

t graph fo A and G iteseet oly 
once Hence 

8overtakos A om the soad onee. 

Ttme takan by 

Nouw 

2 

weman to saach the cffice 
dislance =s 

Theucfone she haachas the offite at f30 am 
She saysd at the pice batueen 93o to Soo 

time taken foa khe etn yousny 

25 lo 

Hence sha eaches at home at siok bm 

Teachers Sign........... 

Ah 



Topic. 

Tha 2-t qiaph 

2 

Q"m 

Date. 

12 

1abh for the woman'A matin, 

3 4 

4.The daunkand takea satepa fouand and s steje 
bakeand and so ON. 
Each. stel i m dong and haquisas tine lsec 

time takon tobavel 2 m = 8sec. 

ait 3 m 

3 

. timetokan to tavel 8 m =8& = 32eo. & 

n the ast suec man will coue sstehd: e 
ho diatance = 13 m (= &+S)m 

and time taken to couen I3 rn = 32+ S 
=37AeG. 

LAence man will ahe 37 see to fal into a 

Teacher's Sign 



lopr 

Pit 

The z -t grabh fo he matin 

4 

12 

2 

Date 

lo 

alion of dunbaw 

26 3s 
(sec) 



Tnple 

3+6 initial nitial sbecd a tte ca U: 126 m 

y- u :245 
2 

No we 

Date 

distance cowaned s= 2uo m 

-35)2 

2 X2oo 

= |26* |ooo 
6oK6o 

3S 
3r06 

126 XS 

7xs 

0)-(35)"= 2x4x 200 

3S m/s 

-1225 

m 

ll4 Sec 

ms 



3.4 

Topie.Mólusm.tn9.baightieoate. 

Town bus 
A 

NCERT EreeAe, 

Tmin 
L 

yelut 

Lot theApacd o bud =Va. 
Deatance thavelloo by busin T mn = L 
Shel o cyclit e = 20 km<h 

60 

fon the busea aawng faemJoan A 

wih to Cyclist 

Km 

60 

wrh to Cyeit 

Yg dþeed of busa 

60 

Town 

= L 

|a L =(Va-Ve)x18 0(and Ve hau ame 

60 

[Vee: Ralatiue abeed 

foa the buses aaung faemtan 
clneetion) 



Topic... .... 

fáom eg ) and 2) 

Go 

3(Vg-Va) : Ve+Ve 

(Vg+ Ve)& 

3Ve- Va: 3VotVe. 

2Ve = yVe. 

=2X20o 

L=(Yo-20) 

L6 km. 

Naw put te Value a Va in selatin 

..Date. 

60 

Now by using L= VgxI 

Ve 

V 2o kmfh 

60 

2Gox 6 
yo 



3lo a) 

Topic.. 

fo vestical matien 
Aceloatisa dua tag1auikyl2)iA aluays in 
dowwand diasetica 

elociky at higkeat þoint 

e) 
and gz42 mg² vextically claumasds 

Dusing upAANd mation,. 
Positen s tve 

J) velacikja e 

Duaing, deunuad mation 

a=24.4)+2x8 (2-X) 

Date..... 

a) uz-2g.4 m<sVa0, Q=9: 98mys 
by y²zu+ 2aC-X) 

2 x8 

2 

e ball_sise ubto 4 m. 

Veo 

ubuand atien. 

Teacher's Sign 

O,t-o 

20, V 0 

fubuand 
motien 



Top.c 

V:utat 
O=-2A 4 9.8 xt 
t:3_ec 

total tima in wshich ball Betsn to he play4! 
hand = 2t 

=23:6 Aec 

31) a) Taue. 

Date... 

At higeat þoint af the naticn tie hodyi 
at aat a a mament but te Qcceletatica 
dua to Aauity () is vertieally dounMaIcd downed. 
6) false 

LS4a patiele hai on-ZONo welocity, it must 
haue Asod 

e) falue 

alhe a patielo i maing uith tunijotm usloeity aceolalicn is zA0.(aay 

I dahenda on the coondinate systemtakent 
exblain the nation qf tha haticle 



S12 

Topic.. 

Lalhenthe ball fall fsom. 90 m hegut Ceiast a) 

by 

.Date. 

FiAst dadlp (uzo) 
[fut upad (V20) 

decond dhop (uz0 
90 m 

V= 30 2 ms =30X||4 =43420 =424 

3od2 -3N2 =3x-414= 4:24Aec 

u38| m/s 

|Ilhen ball AtantsfLaat ubuend motea -
(fiastie) 

byottgt 
b= 38|- lot 

qo 3o2 27 2 = 27 X ("414 = 

Ttacher s Syn 



Topic . 

LIhan tha hall alA Acondtma 
( Sacond dsop) 

u= Qa2 o 2742 (velociky alter ealiion) 
X 272 - = 243J2 ms : 34·3 MMS 

343 

o te tataltme takin hy th bal 

hsiftes bacy atznta sanend ubuaand malen 
Shed (nes) 

2 

.Date. 

3 
4244ey 
4 7 

¡s 
9 lo i 2 

Tcucher's Sijn.... 



Toplc. 

eg 

3|3() Maqniduce. af cikaremont can be. equalca 
lestaa path ongth but cannat bL qAnales 
an path engt 

Suspose a body maueA faom 'o to A then h' to 
B. ttere dalacelnt 

aud hath hngtb =6t6+4 16 m 
ale Gan sec maq1 o dablarement = 4m 

aud hothAangth = l6 m 

..Date. 

bath cau he cqualpa id matien anly 

bqsat Aneaage uelociky 4 
lo 

-te wa aueaagqe eloit but cannot ke 

boka cah be equal fe d matioa only. 

314aiuen dtace, a maAkats - 26km 
man hile qoing to manbot V,=s kam 

Tme tehan to saach e mankot 

S 

V 

Tlae takan to seach home fAna 
-taS 

3 
Tracher's Syn 



Awage vebeiky 
aud 

Topic. 

O oto 3o min. 

thenalo 
In So min, mán neachos marbot 

Aweage dhd 

u) oto So min 

land 

\Auesaqe velocikl = 2S =sKm<h 

= Bal distance 

displacemant 

Avesage weloeity =o 
Aneage Alacad 

Total dinhlace nant 
Total tima 

n So min, Ynan seachoo homne 
e =o 

iú) o to yomin 

.Date. 

Btal tme 

Sol6o 

S.: 7SX to 
60 

3on 

Fn fia3o min. man Aoaches marel. 

FSo min = 

Ia Aemaining lo min he eones deatance lusth 

=2S Km 

Teaclters ian 



Topic.. 

Avenaqe velbcity 
aud 

Oto 3o min. 

land 

In 30 min. man noacho o marbat. 

thanafe 

u)o to So min. 

=Total dinhlace nOat 
otal time 

\Aesaqe elocikl = 2s -sKmlh 

= Blal distance 
btal tme 

Awerage Ahocd = 2 =íkin h 

Aueaage ebeity =o 

oto yo min 

.Date. 

Jn So min, Ynan seacho to hom. 

disblacemant =0 

Anenage Alaced = 25+25 

7 Km<h 

Sol6o 

6o 

3omin 
G2min 

Fa fst 3o min. man Aaches nalbet. 
Ia Aemaining lo min te eoue cintance woth 

Apead ot 

So m°n= So 
60 

7S -2S Km 

Teacher's Sign 



31S 

312 

aud 

Topic. .... 

Theelene 

.Date.. 

2 

ftlnage Abecd = 2St 2s 

=37s6 

S625 

4o/6o 
3 

2 

InstantansOU, veloeiky a paitielo i vebei 
at any instanto tn. tn amall unteval 
imo disblacemlntl= distance 

natantanOUA Veloeityl= Insnkanos abad 

Inutantanaus veloeikyLabeed =imÖl - dz 

Teacher's Sign 

dt 

t 



3.17 

Topic... 

Speed 

Ce) 

Date........... 

Totay katth dangt 

Nat kosibla heease qiaph sbous tuo ditfeurt 
walue 

tuo diflexent weloeitie 

tko 

Not keible because. soeoo cannat be -e 

) Nat posible because. tol aath dength cannot 
decscoe with timo. 

|No, aecoscling to gaaph patielo is nat intha 
mation fe t<o 

A the gdaph i en cne cimankional matian,it 
Canhot aposent parabolie mation ko it iu not 

Teacher 's Sign ..... 



3.\8 

Topic. 

cOKeet ko say that jaasticle i mondng an 
paabalic pat fe tyo. 
The grafh can aalpaesent tae mation 

falling paliela. uncto gavtty 

palice van Shead o olize 

V = 92 kmA 
Speed o bulet Vb = |So mm!s 

Shd e bullet fothief 

3 

3 

Vu 
47S- 60 

315 

3 

.Date. 

Vot tos ms 

NouAalatiua bocd o bulet wato ttea cas 

3 

A 

J8 3 

192x S= l60 ms 192x S 
|8 

(Vakecd bullet) 

Paliee bullat Thief 

Hence, bullet hit the theifA eas with Abecd o 
[osms 

Teacher 's Sign 



3.14 e) 

313 

Topic... ..... 

t G 

The X-t raph thows at 

weloeity 

tsem to ta Jpasticloi at aDst 

om ta tot=o partick moues with nifetm 

ueloci in oblosita ueloclt in ohbot 

inittal 'pasitic 

.Date. 

|Physical stua tion 
Thi 

mAues lwith 
ard seacheliti 

Let cendfon 

diection 

ham ts to ty pasticle continues ib unifesm 
motionin -e x Qxs 

psom tyto ts bastlele n At again 

qaabl may sapsesenta plysscal aituatien 
on a m�th flooA i 

bickod,it seboundd fsom a wa with 
Aeducedsbecd and moues to te obbasete 

lwall cehicb stobd it 

Teacher's Sign 
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